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8 Problem solvmg is not _ '

(A)  goal directed -

®
)

f measuring personality isa -
B)  objective technique

. experimental technique

© Divergent
-f‘q::ﬂ%-]ftga A ¥ B
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4.

11-A : o oy

The 'Classical conditionin theory' of learning was pro syounded by
; o =

(A)  Skinner ' (B) Pavlov

(C) ~Thorndike ' (D) | Kohlberg

AR T AR e s oot Teram o1 >
) R (B) t{rq‘ﬂj 3

() oeTE® : iy D g

Cause of juvenile delinquency is
(A) parental conflict

(B) syrhpathetic behaviour of family members

(C) working in family with mutual consent

(D) wealthy family
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(D) “Hos IER =

vhich of, th ' mng has been. ignored 1n il des T e and “ompulso

zation RRig! (
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13) - Ensuring

Definin:

D) Arrangeiciit of egucalloll all [

STeTeRT o T 49 e et R aRfEE, 2009 e E g W I
foaqr TS 2

(A) ST ST SIRIETT il HEH Tl =

B A S T ﬂ & ,mivT Eb—T T-%T'\’%fﬁ HTAl

(D) ;1 A T % g RIET el

‘Which of the following steps makes research, action research ?

(A)  Constru ction of sub-concepts

(B) . Programme implementation and evaluation
(C) Generalization
(D)  Review of Literature

ses7o  [NNNINNNAY A




STLZ : 7 = I |
ﬁmﬁﬁﬁqmwmﬂmmmﬁ? G

(A) wﬁrwmﬂm (B) mmwﬁmmmqaw e

() T (D) e T

16. According to Albert Bandura, four conditions are nccessary in obsewatmnal
_ jearning. The right sequenece of these cond11.1ons is

(A) Motivation — Attention — Retention — Reproducﬁon
(B) Attcntzon __ Motivation — Retention — Reproduction
(C) Attention — Retention — Reproduction — Motivation
(D) Attention — Retention — Motivation — Reproducuoﬁ
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the characteris
(A} Case study
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R 000 foretoT
(C) G‘EHFT&T% ﬁa?;lhich (D) AT :

g c A P H. D .mea.ns
(A)  children with speaiing difficulty
(B) children with hearing deficiency
(C)  children with disorder of attention i
(D). children with visust impairment
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18.

~ the charagteristics'of

According to Albert Bandura, four conditions are necessary in observatiohal_:
_ learning. The right sequence of these 0011d1t10ns is : ;

(A)  Motivation — Attention — Retention — Reproductmn
(B) Attention — Motivation — Retention — Reproduction
(C) Attention — Retention — Reproduction — Motivation
(D) Attention — Retention — Motivation — Rep'roduc_tion.
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According 10 Sigmunc

(A) Case stad:
(©) Socio_rnf:z::—_ techn®
HAWE 2
(A)  alee-FEER
(C)  THEIHIG G
A.D.H.ID. Imeans

(A)  children with speaking GiSculty
(B) children with heanng deficiency

(C)  children with diSorces of attention i

(D). children with vistal SSSSSREnt
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A test designed to reveal a person's strength or weakness in one or more arcas is
called : o

(A) Remedial test : - (B) _Diagﬁostic test

(C) =~ Achievement test . (D) Formatlve test

'wwwsﬂaﬁﬁwmﬁ{@maﬁmmﬁw%ﬂww s ShE 5 o

) % Tt ST T &, ekl €

(A)  STERICTER W (B) ﬁﬁmmuﬁﬂﬂ
() SO W (D) TS WET -

- By which constitutional amendment the 'Right to Education' was added in the

Constitution of India ?

19.
i
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20.
& (A} 86th Amendment. (B 74tk Amendment = &
L : 91st Amendment
. © G RESIER T e g Terear Sl SRt Fisam . T 7
21 ChildieERiR ped:
(A). ~ asking the Sat@ac hes
' (C) g{ving moral education to the children
Ii (D) ~ giving importance to children's voices and their active participation
22

et St Rereaor fafes =1 @ ¥

(A) a—rfrasiﬁﬂwwaqrﬁmaﬂwwwm%am
®) WW‘{WW@WW '

© gl ! Sfcreh TRTE S :

(D) W%WWWWW@W# ~/

Raven Progresswe Matrices are used to measure :

(A) _Personahty ; (B) Leammg
(C)  Intelligence {D}' Creativity
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Accordmg to Vygotsky chaldren iearn

'.by mntatlon : 5
-',by 1ntcractmg wrth a&ults and peers
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':."by maturatmn =

Thc aim. of addmg Art

o

o lmpmve logcal '

B) .

(©)




2%

28

30,

e A 1%‘&

©

(A) Prmmple of conhnulty : .-‘.(B)_ & Prmmple of si;:i
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Who gave 16 P F. quesuonna.tre to assess persenahty?’ i
'(A). _. Gordon A].lpurl ___‘.'. [B] ~ Sheldon
: : [D) Sprenger '
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32;

33.

34.
350
36

37,

- (A) Exposition .
(©) Characterization = ¥ 'j(D'.); Comprehens:on

" (A) Wil be they
(B
(C) Wil they be 2
(D)  Will theybe arres

oss7o NN

LAN"'GUAGE' I
ENGLISI-I

e ‘ 'I‘here are 30 guestions i in all in thlS sectton '
Aﬁ@wﬁons are compulsoxy i

of which of the fo o™ -_ Pe g
(4) Grammar cum Tras

"(B) Substitution meﬂﬂeé'

(B) I t ignores gramr:.ag ==& siFuciures of our Ia.nguages ,

: (C) Its pract:cal utilif to be awaJted

Which of the following is related to the mental development of the learner P

__ {B) Imltatton "

ISt al teachmg aid ?

Which of the follown-
- (B) Flanncl board

(A) Gramophone

-(C) Te_lev:sxon S o {ED) Radm e
‘Which of the following stra n is correct B
(A) Why didn't you told's ' ’ga; Why you chdn it telj me that P

(C) Why didn’t you that
Which of the folloy
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44. ‘.. in the hablt of stealing, neglectin g thE:Ir stuches slipping out of therr .
' classes ... .’ Underlined words in this part of sentence are used as ;
(A) main verbs : ': . = (B} con_}unctmn :
(C) gerunds o 3('j ad_]ectlves

45 Which of the following has a pessesmve pronoun in it 'J
(A) Bad things in the childre; (B) Faults of the1r chlldren

- (L] They would cmed;@ﬁm]t’s : '(D.)_ Whatever the case

46. True 6r F‘alr«;(* aTISWer 5 pe fuestion 1 iSatypeof.... ... question.

: (BJ .bjecuve Lype o

efﬁ,ctwe

adda

i 01 LS achievement of objchves

(B).
(0 Comparing the outesn
(D) Allof these .
49. Which ofthe following is & disadyz
" {A) It creates mmm:
(B) Il__ Is action based
C) Text-hooku
(D) Material aidsase
- 50. The Itext.—-boqks h@; wh of th
() 1t makes ORI

* (B) Tt checks the y
e It facilitates s

(D) 'All of these

51 In whlch of_'i-he f
[A') I;h.%wc a sh

(B) 1 have .1031; i

(C} Ihave ncver

(D} 4 have admi

B€s of instructions

e’ used as main verb ?
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18 STL-

In which of the following methods of teaching English language Inductive a
Deductive techniques’ of teaching are used ?

(A) Grammar cum Translation method

(B) Direct method :

(C) - Substitution method

(D) . Bilingual method

Which commission in 1948 accepted the importance of English language in c
curriculum ? : i = : :

(A) Dr. Radhakrishnan Commission

(B) The Secondary Education: Commission

(C) Central Advisory Board of Education

Who ollowingpiopesedlistening-Speaking-Wrling-Reading order
tex ng for leafungtonglish a8 lorcicplapguage

AR E. C. Kitisom ; 3 (B)™RobcriPaul

[Cf h] - M) P Gurrev

Which by establish

rorough craded structures

(A)” Strue . ‘B] Situational feach
.(C)  Bilir ‘aéf@i Communigative Approach -

W g I site of the w
legal’ ? '

(A) il- - (B) -dis-

(C) un- : (D) » im-

Correct one word for “That which never fails” is

(A) unfailable = (B) N failable

{C). unfallible (D) infallible

Which of the following has a correct structure of a question ?

{.;f\]. Does Ann hasacar? = (B} Does Ann have a car ?

(C) HaveAnnacar? ° (D) Did Ann has a car ?

Which of the following is correct ?

(A) T hope he'll sueeeed at his work (B) 1 hope he’ll succeed on his work
(C) I hope he’ll succeed in his work - (D) I hope he’ll succeed for his work
Which of the following is correct ? .

(A): The old car moved much more faster than the new car

(B) The old car moved morc faster than the new car

"(C)  The old car moved much faster than the new car

(D). The old ear moved much more [ast than the new car
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ﬁmfﬁf@aw%qu;mwmwmwamw
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77. =M =51 W g €, 3k
(A) U AR S=3i T ITEK 6l AT ST |

L

39ch ITHKR

r £

[s) 5 ,
78. HMEHEl ¥l 3

(A) ST

-

© ¥

il o b, s - 3 g 2,
79. 7@‘?7( cife chl Uxlicdal Sheet ol 8

A

80.

81.

N Yoo AL e N
SHch URUIH] =kl SHEN = = &

B) g
D) Hel

N wSH T (oh '

Cre

< - Wi

83.

84.

(C) * TSI Ul D) T o
‘T Y65 H hin-ol S & 2

(A) TR B) Sgsife

(C) ST D) f&7
fhermes ReTT Uel & vae metne W i 9 ¢
(A) == BT SUH B) foafes =
(C) = SAIN® Tih D ZUF % S
Hifigs sifireafs ol s&al & see= &

(A) IO B) FR-90R

() Fsiw D) =

e % TS SR © SigaE = = = few unE i
(A) G&IH B Sy

(C) URER D) SER A
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(A) T I (B) SR IH

(C) GHNERE (D) HGHD

88, ‘&l el ¥ e FIEN, Heish HeR] o H51 W' Uid H HIFAH HARR R 2.
(A) TH® (B) SN
C) TRE | (D) ¥

g0, ‘wl-Fwen F du H, FUEH i, IF W YR’ Ui F woi-geen’ N e T

n

(A) AT e (B) WA T SR I
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(© A Ted et i (D) HOET % G H
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(A) society (B)

=l A

it enhaz

( ;. 63-65

Fhe w

Like a ¢h

£) wlnue {B)

e 1
.
-+

(A) . far fetched simile (B)

(C} Night

6. - Blank vers

ITCSE {2)

SECTION - III
LANGUAGE - 1I
ENGLISH

[here are 30 guestions in all'in this section.

SR guestions are compulsory.

t role for

DNES (D)

1L 15 d1agnosiic

€S . (D) Yitharasses stue

isleep av
at-0as Ce A:%t.j

Nietapnor

ion (D) Alliteration:

implied

ile (D)  explicit simile

..... S ap exzmple personiification in the above lines.
B) Child
(D) That

¢ 1s lambic pesismetes

(C) @ with alternate rhys=s
(D) without alternate ths
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68.

7A8)

il

74.

32

‘O wild west wind, thou breath of Autumn’s being.’
The above line contains .

(A)  Personification and alliteration

(B) Simile and alliteration

(C) Personification and simile

(D) Metaphor and pers.(miﬁcation

“An clegy’ is

(A) ajoyful lyric

(B) a poem on death of someone dear

)
(D) amarriage song
The speaker / narratomirith&Pastoral elogy is
a musician
a painter s I
abab, edcd, ef ; [\ af,é ‘abab. abe, cd
(C) abc, abc, def, def, gg | (D) abede, abede, efef

The drama that developed from religious rituals was

(A) Classical drama : (B) Elizabethan drama -

(C) Medieval drama (D) Melodrama

/'beri/ is the correct transcription of

(A) . beri _ (B) berry

(C) bury ’ . (D) beary
‘Exist’ is transcribed as .

(A) © /egjhist : : (B) /egziest/
(C) Jeg'zist/ (D) /[lg'zist/
The C{Jfrect transcription of ‘virtue’ is ;
(A)  [warchu:/ ' (B) kvs:tj b (Y
(C) /vert]u:/ (D) /wa:thu:/
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Habit §o
1 i it £
Learner learns the {258
T 4 B By W e =y 1
lD I'extbook plays an ImMportant roie
or mullmgus T e SRRl to knowledge
= - TR, Py P
boon hardship
ladder
ol i =
). - vocabulary B)] reading comprehension
+1a ™
LN i)
1
as no betier than a8 €eaq man reach
) foreo
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83. Measles ... [ - an infectious disease,
(A)  are ; ' (B) is
(C) will (D) have
84." My frien d and his father ... i meeting us tomorrow.
(A)  are (B) is
(C)  will ' (D) ‘have
85. The fisherman cast his net for tWo whole days but ... . . not get e—:\good lot.
(A). can (B) " might '
(C) could D) may
86." Ravi’s uncle guided him how he ek gilo e EatLt:a‘z?api his'test.
(A): can (B) " should
(G-
Flyingiin the { " means
(A)  respe 5 B pray
(C) reward ' ' (D)
88 1 nd stas
it to sta - ¥ ggedibmcn
i€ not regular Sy (D) '-i'b'ee.d;

~~ Wilg passage and answer the questions :

4

‘Waltching television for a'long time could lower academic performance. [

‘steals’ away

the recading time. Time management is about sc'_!i'—(I'J'sc:—ip.l;iz":x;‘.._T‘imc must- be managed

between filled and unfilled time.’

BO may be an dppropriate title for the oiven

(A): Discipline - (B) Selt \

(C) Timc—mqmagcmc-ni (D) Television

His father never starved, but he couldn’t cast any doubt on. the story. So he had

to make an effort to hold his tongue.’

90. The linking devices used in the aboye extract belong to

>

(A)  concession and contrast (B)  opinion and purpese
(C) condition and adding ideas (D) contrast and consequence
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61.

j{_{l': Wﬁ<r_. icnho :—--—'_,: S L2 _

; L - = - A S e

(A) SOET: JRISTE T S (B SoR: FEiaT I HRAK |
(€)' oISt Axiavic 2 R (D)  S&T: FIET I URA |

Ach: J&sh (B) = rﬂ:tq 1_3\{47‘? ﬁ-"’{;—‘r |
CIGE RS -~ Ty JicTehT1E 0¥ & w3 |
(LY} 3
6:‘% \J‘.._“-_'”_ = _-‘:."",__'::__.. =

X

S L [ TR

S ADB)
64, 5T

o - L
s o I a2 s

- (! e—
65: { bR SV i=aa —

Tt D)

66. T T YEhaded 9nE e —

3 HIcl: (4 < 15) i, dis= SitiollH —
s - Lol S g i L )
AR UK IEISH B) WY Tgae
Tl b s = T = R =
(C) YUK "Hgdisd C Ie= Usgded
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75,

675
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79.
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STL-2 37 -

‘AT T . g 2
(4) I &5

(C) TAq
wa;sf@qimm::ﬂ#%ﬂ?
(A) wifeE

(C) TSl
_‘ﬁgﬂmﬁ'mmﬁﬂﬁ‘
(a) ToeRE =

) e == .
TSR = e = )

B)
)

()

(D)

(B)
(D)

= i E kel

ATFEA ~

S SSicT e i | o e O A e

Wmﬁma&awwm Hﬁﬁ&%ﬂT e

TIGeTh: S0 2

(A) =g
(© U
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(B)
(D)
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82. HIGH SR W wer: st — '
@ T (B oHm .
€) eH |
83

_ , D) §

JEEAE: " o T s —

(A) w5 (B) v

(C) Adcqoy;: (D) a‘gﬁ’ﬂ% ’

84. "HARR" SR YRR GR-free fersafer —
B W+ oG

(B) AT + HISX:
(€) ¥ + HEE: (D) HHT + 7L
85. HYd' W BHATR %: Uiy 2

f

(C) A :

T

) 79

87. eI HINORIOTET -

A IgEam e

1C) f.«,~+-:nm1'#u|='d‘ﬂt[

88.  IAfET T A 7 e 2

(A) R, (B) FYTHYAT

(C):= :U_’TJITWTT (D) WWL{

89. A1 W11 SreMwHEr W1 ety Sl - e TEFd Hepaareme SirersTST
ATARTEHT" 2ht T foere 0T R 2

(A) o R

(B)  Weget ok
(C)  eoT e (D)  wEERR fe:
“oa i_fu,:r:'; lT—ﬂ‘T{:J

9 g OEY Gishasta wiysfy dle et geiad w1 quf 5
ald " 2l et i ITeg ST e 2

C

A=
4 {0

I
(A) TrJrr: ]

J 2 Heleda (B) IS §o Uiy HEglRag
(C) 9Kl Heigdy .

(D) - WoToTHo HRRT Fefed
9 I-I'!..[fj|..=i!|:..'|i.,if!l!jlI’;ji” 666
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SECTION - IV / gueg - IV
In this Section, there are 2 sub-sect ions ie. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple - choice Questions
cach., '
The candidate has to choose either W(a} Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.

9 EUE T 3} 3uEus T 1V(a) T 2T R Ud IV(b) 9IS oeaa ) o)

IYEUEl & %:ﬂﬂ? o 60 Ef’?if‘»'fi*‘v_f?r” US 2

RTeATeT

24T IV(b) W HET, H“wﬂ TIq cﬂTvﬂTd
m‘nwﬁ 61 &, H & o6l Bk suEve =1 T & s o 60 we S 5wy ST B |

SECTION - IV(a) / @S - IV(a)

i
There arc .60 questios Is'section. The candidates who have selected this
SL st.answer al is. :
o d e 60N - B s (g T T €S O ue s
3 e :
9 Under 3harat Neugvillage m 8udays.
If ville o — 40 De 6 lunteers will be
required 7
(A) 20
WS 9Rd A935 = a0 20 =509 Y 7T I 8 ?ﬂ? H W H Hhd g1 9
e R o N _
e I 5 57 H = S B, o8 oy S HOh] chl HTGRIHAT 81 2 @Z:;Q)KJ’]
(&) 20 B 32 | }07)4
(C)= 1S D 30
92. Partha moves from sRumhuan 88 Jodhpur by car to reach in 6 hours with an

average speed of 60 km /hour. What will be average speed while returning, if it

: 1
takes 47')— hours ?

(A) - 80 km/hour B 70 km /hour
(C) - 90 km/hour D 60 km /hour
T R SR T & S B0 e = i e Q6 B2 H ggedl €| oy

vlEd WA $R Hi e = =9 5 20 3 39 4

() 90 frHl/E0e) B 60 fHl/aue
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AT fafyr 39z &
A) I F fo (B) ¥ BRI W 861 F & fw

C) WA T & fow ) g &1 ol @A & fou~_—

100. Important characteristic(s) of Textbook of Mathematics is/are

(A)  Subject matter (B)- Language and s tyle
(C) Form of Textbook (D) All of these

T %} YISyl St Hecaqu] fRiman(v) &/

(A)  UTSEE] N (B) ST T et oz,
e £ v, v Ve i L O

(C) Y¥ih I ATHId = (D) {4 9y
101. Chemical formula of aluminium sulphate is

(@) AL D) AlSOy),

USRI Wee 1 Turdhe e

(A) 1,80, o (B) AL, (SC B

€ AL GG (il allo.). _
102. The meial having lowes nc e 01 m' lg e 1011 lag is

(A) callium . Bl | s lth

™ : g :

T & & 9of %5 TeeE g o -

(A)  Tieag (B EEsEap]

103. Colour of phenolphthalein indicator in alkaline medium is
(A) white : (B
. f

3) pink
(C) yellow )

D light green

8 T ¥ e TTF BT T e
(A) TR (B) oA

[

(C) Nl (D)  BCTHRT 8L

104, Which of following synthetic fibres is a4 polymer of ethylenc glycol and
terephthalie acid ?
(4) Arlon
(C) Nylon (L) Ravon

68579 NI ANANI [666 ]
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] 18 A dewce used to store documents

1198k s the symbol for the

oo RN

ﬁwmﬁaﬁﬁ@mmm%%ﬁﬂﬁamﬁﬁww%qmﬁ%
_ "IWW B o
-(C) QIR D) ST H PR

'_.I. 15. Which of the following is known as '‘Birdman of India’ ?

. Ay malinaAl \ (B) A P.J. Abdul mm‘n
(C) Homi Jehangir Bhabha (D) C.V.Raman

5 _‘___ﬁm%rﬁgawm‘é&ragaaﬁq %mﬁww%9

(A)  EeE S a@?”" qq”r@rww
(C)  FR SR SR e

116. Fusc wirc WOrRS BR THE Bes s OF

12 1%@ S (D) 121%%/@%/

© 1 2 Fereiteiez /eer fa_"_ - D) 112 heiriet/d%E

or p1ctures avaﬂable on any paper mto dlgltal e
memory of computer 8

(A} OMR 7 B) Scanner_.. e
{C) PIotter - MICR = -

me?ﬂaﬁﬁ;” Wﬂ%%ﬁ?ﬁﬁﬁﬁﬁmﬁﬁmﬁ%mg
Wﬁ?ﬁvﬂ%ﬂﬁr
| aﬁnﬂa:rr{(OMR}
'(C) tefer A

(A)+ antimony seicnmm
(C) strontium . tin

Sbﬁh‘aar—crwrwﬁaa%
(&) T '.:_:'
(© EiwEm ‘

-~

o



-

S

aaall e e b

[L] - 50 | et ey e
- 120. Compound among the foiiong is
(A) - diamond : (B} graphite
(C) ozone _ ' (D) water

e % & i
ApiEr i D) PR o<

(C) 3 _ . D) S~ _

121. Which of the foIIowing features of mathematics makes it a global SubJCCt ?
(A)  Language complexity © ~ (B) Brevity of language
12 =5 Uniformity of. language (D) . All of these

Wﬁﬁm%@ﬁnﬁwﬁﬁﬁwaﬁwafwwaﬁ%?
(A)  HTST S STeera S (B) TS W SR o
© TMHBTHETE o) oeFd e L

122 Fhrough mathematics teaching, children ;'.f-:-:"--'r‘;:.i“_(_r-:-'_) skills to _control which of the
ollowing emotions 2 Sk

A Logic K ol & :"(B‘. 'y e 1f'd e
! (C) Thi g powes gD} ARSI HES BT 8 !
1] T[Ff ﬁ'{&]l" oh TTeIiE ﬁ‘ FJ‘IT-l‘Hﬂ' T {.'\_,.,_,. *3*' *‘:" ‘—t*r *r" TIIET g3 ﬂ:i_._‘j‘l_ E:\f FT aﬁw

ereh g T & 2

mmat

r i’

123. What the method of mathema ciung in. which  the move is from
um«mown to known and in whzch the tenden(.y to search is encouragcd hi
(AJ-. Syn thetic method _ (B) Analytic method
(C) Pro;ect- method - (D) Laboratory method

TioTeT feveror st wE-wt Ry & Wﬁwﬁmaﬁmw%a%ﬁ@ﬁm
I TG i e e & 2 B | '
N e
D\ - s Rl (D) e fafy
The community objective of defining mathematical terms is

(A) © Cognitive (B) Emotional A
(C) Practical v ' (D) Functional Ve <

o st 1 oot st oo g stew &
B) ST o T
- ©8579 HmvY
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e ssary to find out mathcmatical errors in children.

(A) Remedial test (B) Diagnostic test
(C) - Oral test (D) Nature test

SIeThl 5 TM00E 2ieal = 50 S % o0 STEvES

(A) STERES WET (B) eIt TEer

(C) TifEs s (D) .. T gET

126. Denominator of & rational number exceeds its numerator by 8. If 17 is added to
the numerator and 1 s subtracted from denominator we get thé rational
number = then the ratianal number is

13 21
21 - K
13 S Pva
I ®L. 13 |
7 E T H 179 WA W A |
e g ¥ '_ﬂ%ﬂﬂ}:é
=
e 1 4481
: 7 & ~ 13

127, The smallest square pumber which is divided by each of the numbers Zr

7,14 and 21 is ; oS

A) . 98 B 1764

}é:} 394 1{’D}; 2056 ' /(E% /L;é?

B2t § DIl 11 GE=Ar = 6edl 7,1 1Hﬁﬂﬁ$ﬁﬁﬂlﬁfﬁﬁ?ﬁ% : '

(&) 98 1Yy .2 Wq’ﬁ o M

(C) 334 (D) 2056% A\
128. The \ralég'{}i ———-——l—\ + Eﬂm is

o 5000216} r

A) 10 B 001 e 0] e s

. 9 =
(C) 01 D) 20 _K—Jf aTgr
0 |
L ’ ; it

+3f(0-000343) = 5= =
’a[_fi__) )
0-000216 |
T R {
() 10 B ool 7

(€) 01 D) 2-0 .’—‘M!O ‘r 9. Oé 9,
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129, Shankar took a loan of Rs. 25,000 for purchasing a machine. How much amount

will he repay after 1 year 6 months at annual rate of 12%, when interest is
accumulated annually ?

" (A) Rs. 25,850 _ (B)  Rs. 27,680

(C) Rs. 30,000 : (D)  Rs.29,680

PiehY I BeH & o8 25,000 To 0T Wicl &1 T8 1 99 6 A& Eﬂ‘q’ 12% © qﬁﬁ%’ o
& fFaer 97 S mﬂch TS 1 T BT & ? '

(A) 25850%T0 - (B) _27-,680750- i

(C) 30,000 To . (D) 29680%3

. Rajan purchdsed two ceiling fans at the rate Rs. 2,500 each: Out of which one .
fan was sold at 15% profit and other was sold at 8% loss. How much proﬁt or
loss percentage is obtained in the whole transaction ?

o loss 7 % profit
(A 350/1 B 7 % profi

__-\x_,} 3:5 % profit (D) -5 % loss

g 2, “‘"JU'OU :-Nd Gig am CLe v tsucu 0% 1—1 11 t.,f-n Uig- t‘-h: J)%FflT‘i-"iSﬂ'{

__g{f{aﬁ 21T ﬁlTIRT"—fF'T rm’ﬁrm G Etrgé? Q//g—"?ﬁ“j'n

oy T e "/ 5
CR (D) @i5% &

k of 30 mect gy @ d SI2%mgtrél déeép fis dug inja
tangular field of joms - =3 Lo imetre: Thele: |fth sand so
dugout is spread c{@s

f the field. The height of the feld
aised Dy 1L 1S AN

(A) 25 metre . (B) 25cm

(C) 25 metre (D) 25cm

sasﬁzrmaﬂsowﬁgwmméﬁﬁwwum T, 20 Hie Jrel
9 12 Hie TR ikl Wik ﬁ|ﬂ1%’lww@amm$rﬁngfq§mﬁwéﬁ$
'quwwwqﬁwﬁmwﬁm@ﬁﬁaﬁ@mﬁ *

(A) 25 Hex : B 2-5@7:&

(€)' 2:5WRX ! (D) 2599

132. Dimensions of a cuboid are 60 cm x 54 cm X 30 cm. How many cubes of 31de
,‘J\ 6 cm can be placed i in the cuboid ? :

(B) 2700

(D) - 300 :
| g i ﬁg_f”
e
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waﬁmﬁﬁﬂmgsg_ﬁﬁfxmﬁ_x____;________érﬁﬁlwm*eﬁtaﬁtﬂ‘ﬁm%
ﬁﬁ%ﬂ#?@ﬁ?m e | .'é’abw

(A) 360 o (B) _-"270(}' Bk /?

4 : (C) 450 SRR D) <300 S .
g 133 For the fo]lowmg ﬁﬂqm:neytahl& the number of persons whose weights are less

‘than 60 kg is

Weight (kg) -

50-55 | 55-60 | 60-65 | 65-70
f B '_'-'Numi)cz_:{af'.'

persons T s s
(© 29 Al

ses on different items in construction of a

134 Follomng pie ch
gL Hon of the room are Rs. 2, 00 000, then how

~room. If total eX

(A) 'Rs. 10,000
(C) Rs. 60,000 J

sssro NN



109, A«Bag contains 15 red baHs and some ore

136. The value of ——== __ is

1137.

68579 | | - 7

TR TISH o R ¢ :

_©) 125 (Dj 625

54  STL-2
WW%WW%Wﬁ%Eﬁﬁ@ﬁW%JQ&W%Wﬁ
F1 2,00,000 Fo T & 79 ATl W forert B9 =27 ot 7 o e

' e | L p el i

L

36° = w? j : | 5L

. 108°

(&) 10,000 To (B) 50,000 o~ /LJ/
. (C) 60,000 %o (D) '~ 40,000 ®o

i balls. If the probabilits

green ball is —, then (HERmMber of green palls is
O

() 5 | (B)% @
) U8

T It B 18, o7t 1S 3 TO RIS €1 G T &I 75 Mo bl oy

SIS e L%
ST AR
| 8 e
= =

(30) 2 x512
625x67>
@ 25 . (B

(30)7° x512
625x67° |
(825 0 8 5
(C) 125~ (D) 625
If (6)***1) +216=36 then the value of x is _
) =i | e o)
© o (D) 05 4 :
A (6)2% ) 1216 =36 T x FTHE

i, RN (§ 0

T 01 &

= = =— = —=
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_I 138. By subtracting —5x* +7y" =4y from 3xy+2y2-2x? we get the expression
| A) 7xy-Sy+ax" B) - 7xy+7y?_3x2
A0 Txy+Tytaxs I D)  xy-9y%_7x?

3xy+2y° 22 AW SeRlge? 4, 7 HeR W TR S o

(A) 7xy-Sy +3x" B)  -7xy+7y%-3x2

(©) 7xy+?y’ +:x‘ - D) xy-9y?-7x2

1;-_39. i : 9
{3a+5b) (3a-8b) -
(3¢.+8b) (3a - 8b)

(3a+5b) (3a~8b) .
(3a+8b) (3a-8b)

- A

142,

(A) conductzon

©) convection and conduction both
ST W = S ‘Pﬁﬁ i “Eﬂ?ﬁ % ?

(A) HE CIGE] |

(C) Tafwzur WaﬁTWﬁ

- 143. An object is plaed;- :
' other. The number of &=
(A) 3

(C) 5

68579 HIWM lﬂlﬂlﬁlﬁfﬂﬂl

Eirrors which are kept at 60° with each
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(L] 56 STL-2
EEEST 60“%WWF§@WW$W@WT@T%IW m@rmﬁﬁ
& g El

M 3 . B) 4

G AT (D) 7 _

144. ‘Loudness of sound is determined by ............ ......of sound.
(A) - amplitude (B) frequency
(C)  pitch _ (D) time period _
S Sl T S B/ e, gRT iR st ST 2
(a) B g -

' ©€) TR (D) &= et

145. When an object is placed in front of a concave mirror at its centre of curvature
‘the image formed will be
iB) real, inverted and egual fo the size of ohiect
(£ # and smaller Wien objéet

DY = tandecqua’ 0 thesize of objeet ;

e fq;q‘ T2 =0T &= o o n.J.r;.hHr ;\h-r‘ T34 dT A1 -} E‘T[ EEl g%ﬁal—(
JER
. ST
B) . didifor
(C) - S, \‘.I.!"?i G G < Bid] s
(D) 3T, T SR 95 & 91551 o S

146. The disease caused by virus is
(A)- Typhoid (B) Malaria
(C) - Rabies (D) Diarrhoea
(A) ZEFHES B) ToRar v~
(C) S (D) SW A

147, Yeast { Khameer ) is an example of
(A)  Bacteria (B) Fungi
(©), Virus (D)  Algae
T (FFHR) U IZEIT &
(A) Siemy T T £ (B) - chdch ohl
(c) oy &y (D) . ¥at

g ATy
68579 | [l AN 666
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Whlch of the fo]lowmg 1s-a cold habltat plant i el
(A)  Hydrilla RO TEa o Bamboo e
(C) Opuntla 2 : £ {B]' Saldzmella E

' (C) WITIW ¥ SR {D)

4 M"all't(_:'h: the f_o}lowiﬁ'g :
1. Tuberculosis te Salmc
w8 -'1"‘yph01d e i "“elia zoster
13 Whoopmg cough I'-. e G Bordetella pertusis
4 Chickenpex . = £ 4 Mycobacterium tuberculosis
The correct answer is. == e T ;

.(A) i

(B)o il e
H
a.

‘"ﬂ R

k)

'f_ﬁ" o - T

(D) ! : i

). Which is the Iargest gland Df hllm:an LAy
(A) leer i e o

[C) ) A(:;rg:ngl

0

79 mmmumnmmmm

PO




_subject must answer all the questions.

.;wwﬁweom%l fﬁqawﬁﬁﬁwﬁwaﬂwﬁw%ﬁﬁmm

"91. " The questmn ansWer techmque can be quite effective in teaching secial science

68_570._ Wﬁlﬂﬂﬂllﬂlﬂlﬂﬂﬁlﬂlﬂ

| i s
| SECTION IV(b) / @vE - V(D)

SOCIAL STUDIES / refine sieqa .
There are 60 questions in all in this sectxon. The candidates who have selecied this

3T &)

as it ensures

(A)  students’ abxhty to rcspond better in exammatmns
" (B) students come to class weII-prepared

(C) - active partxc:patlon by learners

(D) - a more disc:plmed classroom

. IR .aﬁr% s f Ewﬂ:r i m&m il wqﬁ rmra“r %? Tl & il 2= e

e

9

Marmc Insurance '

.Mﬁwwmﬁm%

Medical Insurance

W SerdmsfE o G T S & o
(C) sl s % e (D) fafemear st o o
93..  Which of the following scttles the consumer disputes at dlstnct level 2
(A) Sessions Court - (B) . District Court
(C)  District Forum. . S D)~ District Collector -
mﬂﬁmwwmmwmwm% ?
A LR S (B fﬁrc—rrrmmma
© Femwks - o) Femw
. 94. Central bank of our cauntry is ' & . SRR
() State Bank of ing AR (B] Reserve Bank of India
- (C) Central Bank of India (D) Bank of Baroda |
‘w%wwéﬁ'}aéa% Tea
A TR RedHm (B)wﬂ?ﬁaﬁﬁéé?ﬁ
(C) éw%mawsﬁsw & D) 'é‘?ﬁa:ntsaejm




I'he headquarters of Rajaslhan State Cooperatlvc Bank is locatcd at.
A) Jodhpur : e (B) - Jaipur : s

C’) Ajmer (D) Kota - e

A)  STH . _.

C) SR - (D) WleT

City of hundred islands’ is located in which dlstnct of Rajasﬂian )

A)  Dungarpur : (B) Udalpur X

C) Pratapgarh . sl Banswara A St
ﬁaﬁaﬁww W%%ﬂﬁﬁﬁf@m%? ' el

A) W : e .-(B)-tﬁﬂa'{' ; - :

B W e e (D). e -
Which of the followmg iribes of Rajasthan has been mcludcd lp the list of'
orimitive tribal group by Gq nment of India ? - :
A). Bhil
Garasia

Kayalana _ (D)

. ﬁuﬁ%mﬁé}maﬁﬁa%

) - TR - (B)_,%mu'ra -

0)  HEeET _ (D) faelEs

ajasthan is the largcst producer state of which of the fa!lowmg CrOpS m Iﬂdla ?

)  Maize ¢ (B) Groundnut | §s

B Mustard (D) . Cotton ' ’

- wﬁﬁmﬁ@ﬁqﬁrwmmﬁﬁﬁmm% ?

HehT | B et

gereei (D). FUE

Thich is the best means of explammg the shape of the earth 1n a classroom i
Globe - B M&p ' 2 '

Dlagram [D) P Lo

L 565 Pro-

Lo S o o o

E
'E

mﬁ..,.‘l.._,_. S "’?r P

.'_

r

T e R S —




| 10-'2..

- 104

@A)
)
©1105..

et S  sTL2
. Which states army did DDOII.I and Jawaha.m ﬁght agamst P :
v ‘Bikaner and Jadhpur - (B)  Bharatpurand Jodhpur
(C) Bharatpur and Bikaner (D) Udaipur and Banswara
'Qﬁ?ﬁﬂmistuﬂﬁ“lqﬂ ilwlﬁ#ﬁ@ﬁ“ wﬁ%&r e
B icacract Fﬂ‘ﬁg‘( 3 *q'{ag{ g \_rﬂ'ﬂ?
AR & B = _(_19) 33113? o ST

Who of the followmg revolutmnanes assumed the pseudo name Amardas 2
Vairagi’ to avoid arrest 7 S
(A) Arunlal Sethi (B)  Pratap Singh Bahah
(C) ~Kesari Smgh Barhath - (D). Jprawar Singh Barhath

l-l*--!ﬁ'@[lqv{-l mﬁﬁﬁﬁﬁﬁ%ﬁ@aﬁ%ﬁﬂ eqmwéwﬁ Ww:ﬁq%ﬂm

Who among the followmg were in the Chandaval Squad of Maharana Pratap in
the Battle of Haldighati ? 5 i
1. Purohit Gopinath 2.

'Rana P’uﬂjﬂ
3, JaimalMehta 4. HakimKhan |
5. CharanJaisa, 6. Krishnadas Chund:awat
AA)s 4, 2;80a e W eS¢
floipila = ). 5’6 : 1735

ot mﬁwmﬁﬁwﬁ ?
_."ﬁrﬂr@r

Wﬂ?ﬁ‘ﬁ

s s a s

) 1235

15 consldered as the Iargcsl Chhatn of -

mﬂﬁﬂw
1238 “4 e
2,8,5,6: s
thch of the follomng (‘f :
Shekhawatl? e -

L of Ramaﬁ" al tﬁi - Qh’ha_tjﬁ of Ka‘ljrfan“-s_high _
{C) Chhatn of Hardaf__ & () Chh e OfGop o Singh
68579 |\||Il||\||l1||ﬂﬂ|ﬂ|ﬂ[|\|||l - - o




P o =

EisiGicn f[ﬁ fore ot ﬁﬂ@ﬁlﬁfﬁ%mﬁé}@ﬁﬂww% 7
(A)_ wﬁtrraq‘legr{aﬁoﬂﬁ (B) e R s
©) wEmfEwow (D) T e W ead
The prmmple of curnculum whlch emphasm on ‘leammg hy domg is
(A) Prmc1p1e of motlvatlon. fr o e Prmmple of broadness iy
(C) Pnne:ple of activity. (D) Principle of utzhty
wresEEe o fore fagra %ﬁﬁ?%ﬁ@ff T o foI S F,
(A) RO 1 fasr (B] T G _
© Pawfeew 000 eqa’l’ﬁlmwfara'm
The dlrectmn of trade wmds in northem hemmphere is
(A) North East to South West
(C) South Eas‘t to North West
8 et & maie de]
(A) ST e A s g
c) s fga“ )
The maxunum dl 4
(A) Periheliond
(C} "' Aphélion
g
(A) STER
© 3ER

Ina food cha.m a ‘rat’ comes under the category of

(A) pnmary consumer s e secondary consumer

(C)  tertiary consumer o D) producer
e et 3 et v Aol 311?!1% TR

e e S m

Whlch of the foIlom.ng statements is correct ?

(A) “The dlrectlon ef the wmd’ ina cyclene in the northem hennsphere i85

clockwise = i

(B) The dlrectmn of the wmd in a cyolone in the southem hem1sphere is T

€B] South West .to North East
[D) North West to South East ;

5 .--||mmlmalmmmm

oy .anuclockmse :

(€) The direction of wmds in cyelones en ﬂr& earth’s sufface ‘_is both -clackmse :

and antlclockw:se & : ‘; A _

(]j). The dlrectmn of wmds m eyclone& ﬁz % earths surfaee 1s only :
B antlciockmse :

o PTO.

LA,
il
-
Il b
| Bt
i
3

s
|
.
=
=

Ea
-

=T I ,‘3;1_ I S S

[}

e

\

i ot i s e el

9 4
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e e a2 '- STL2

ﬁmﬁﬁ@q-wwuiﬁ%? A r

A) . wﬁﬁaﬁﬁwﬁﬁwaﬁﬁwa@raﬁﬂéaﬁﬁwﬁﬁ% =

{B]-' Wﬁmﬁmﬁﬁwﬁﬁ?ﬂuﬁaﬁg&ﬁmﬁﬁqﬂﬁﬁ?ﬁ%
qﬁ%aﬁwwwﬁﬁwﬁﬁﬁwa@ﬁﬂéﬁﬁwwa@aﬁﬁéaﬁ
fea % oo, < € feemedi & @it &

P Hﬁﬁwmmﬁqﬁaﬁmmaﬁﬁ@ﬁﬁw%mﬂﬁﬁ

141
mosiy Councx_l ?

113.

el sl The tl'urdPo]LngQﬁ@ K-
A Wwaﬁwﬂ (B.]

How many- members are nommated by the Governor in the State Leg131atwe )

" 13

(©) ST T SER : D) ?fﬁ?ﬁﬁﬁ

Who is ‘the m—chaxge of the 'Voter Reglster at polhng staﬁon during pollmg in
~India ? : .

(A)  The first Polling Oty (B}I The second P‘o]ling Officer

(D) . The Presiding Officer
ﬂﬁaﬁn ﬂ‘mzr k2l o gl a’tﬂT % ?
= - a

- © qﬁﬁﬂﬁﬁﬂaﬁmﬁ = \ﬂmﬁhaﬂlﬁﬁr&

In wh1ch form of the Government the executwe is respons1b1e to the leglslature ? ', :

~(A) - Parhamentat’y Gwmt = 8, (B) Presiden‘aal Government

~ (C)  Totalitarian Gmemxnent '(]':Z)) Mﬂltaryrule :

116,

mwmﬁ Sl )

| _(_r__:)_ mﬁﬁﬂa@w ﬂﬁﬁw _' |
Wl'uch one of the followmg is ezu exﬁmple of ‘knowledge ob_]ectlve ?
()  Explain T (B) Construct

(© Define~  SSS (D) Analyse -

‘s INMUMMN — [ese



e ._ '__6_3

o aﬁ'rr-w ?rma%w W‘SE{ITET“T %"‘“2 B
FEIEREE RG] s - (o) foRe
at onal Voter Day is celebrated in IndJa on
)5th September R e (-D)"_f':'- 25
| R FAe ﬁ‘cm ST S ik
5wﬂaﬂ R B

lture. and Irr1gat10n are mcludedm thef

;lS = e -"'-I' : e =
the Umon llst kiR T (B)tfh’e State list

e Cc_:ncurrent list . (D) re31dual sub]ects

d in the Premdent ?
53' 7

.53'
55'

Gram Panchayat

L

mmmmu




_ _. Lo o o L
121 What is the proposed Nahonal Assessment Cént_re ) "riamed 1nf.he National
Education Pollcy, 2020 ? S : :

(A) . DIKSHA ' o & e B NIKHAR
o) DISHA (D) PARAKH
WM% 2ozoﬁmﬁﬁu@qwéﬁ;aﬁwwﬁmw% 7
Ay e e e frar
o D) W@ .
122, When was . the' ‘CALP’ programme mltxated m upper pnmary schools in
. Ra;asthan? L
i (A) - 2007-08 il '(B) - 2010- 11
€} 2015:16. . (D) 2004-05

Wﬁs—amﬁﬁ%mﬂﬁwwammwaﬂmmgw ?
(B) 2010-11 _

; ( 9&1@? 1946 _ |
(C) 22 SRl 1947 D) 26 Gr—lafr oA
124. . The ‘nght to Educataon was made the part of which Fundamental nght by 86th
: Constltut:on Amendment Act ? '
(A) Right to Freedom B Rxght to Equality - :
©) Cultural and Educatio nghts D) Right against Explmtatxon :
86 3 wiur S S
e 2
(A) @aaaﬁraﬂaqﬁmt . {B] wmwaﬁxw :
© fore Udl WEpH Al F i & foeg SR

- India ? s ]
P AR In2010 e e e (B) 'Iﬁ'2012' ;
© n2014 e '_'(D} in2016
,('A) 2010 - T g (B)-' iy
e 2014 e D) Wie
68579 Ilﬂﬂllllﬂil!llﬂﬂll
< -Zt-

'mma:aqﬁm ﬁfmﬁmaﬁmmm'

' 125. 'When was the ‘Protectmn of Chﬂdxen fram Sexual Offcnces Act’ enacted in




A} : Ra_}asthan _' : e (B) Uttar Pradesh e

—

(C) Madhya Pradesh : (D) Gujamt S Tl

: -3.__-216?3@@?11%%11@::{%%7 e e
(A) TSRYE : B wqaw
Fomei i (D)_--= i |

(A)  Mewar i - (B) Hamtl : ?
(C) Marwar : - Shckhawatl G
%ﬂwﬁﬁﬂ%ﬁmfﬂréﬁﬁgaﬂ S

| - 4
Smt. Kishori Devi was asspeiated with which peasant movement ?

C) Ear FRE e
B wwmﬂz%%mmﬁm%&rw% 2
A) AT o w0 e e

sychology 2l
)l
)

Messors théory"' : s (B) e .. ; .
Leéarning theory <o * CD) AdJuShn theory’ |
W(IBQS)ﬁWWﬁWW%WWW% ?

o

) 1901: 1911
- 1921 -1931"

[T - m -

—

dward Thorndlke [ 1898 ) is famcms for WhICh pmlmple m Educat:onal'

_["_ —=

'T'“A':I’T"’T%-'w

5

e = - -
E 7 |

e e S

Tear here

e el
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182,

133.

134

135,

6 .. A b e STL-2

vﬁmﬁ@mwﬁwﬁwwqﬁiﬁaﬁﬂs G

(4) 1901 - 198IERRE. S B 1019 C 11001

€ 1920wd031 - e by g7 et

Which of the follomng is the oldest iron a.nd steel company in Indla ?
(A) TISCO ey (B) 1sco.

(€ vIsL . e iy da
ﬁmﬁﬁﬁquﬁawﬁmwﬁaﬁﬁmm% ?
B)TISEO Sl (B) IISCO '

(€ M8 s e (D) SAIL

The correct order of locatmn of g:ven phyﬁmgraphlc features from north to
south 1S ;

Whlch state is thc largcst producer of Gypsum in Indla ?

(A) Rajasthan - - . - - (B) Gularat
(© Jharkhand < .. (p Madhya Pradesh
R 3 e i e g aﬁq—m% 2.

Zanska.r river is used fmm@;ﬂaﬂ and pawer generatmn in which reglon ?

- - (A) Arunachal Pradesh (B Sikkim !
: -'(C)-_ Ladakh ..(D) Garhwal—Kumaon-

“136.

- "68579 mnnmﬂlmmu

(A} awunaaﬂﬂwr i {B] fﬂﬁéﬁq

When did Chauri-Chaura incident take -

. cid (ak place?
(A) January, 1922 = - @ February, 1922
(C)  November, 1922 () Apnl 109

¢




132.

133

vﬁmﬁﬁmwﬁwﬁwmqﬁgﬁaﬁﬂs?“
JA) 190110 ER - EEE L mee yed T gay

(C). 1921-d981 - % il h gy . 1981 .
Which of the followmg is the oldest iron a.nd steel company in Incha ?
(A) szco Ll . 18 nseo

(€] VAL v ' (D) SAIL .
ﬁmﬁﬁﬁqmaﬁzmwwﬁmﬁww% ?

Aa) 'I‘ISCO T8 S (B) .1sco ;

1) MISL riies i (D) SAIL

The correct order of Iocahon oI' g[ven phygmgraphlc features ftom north to

'(DWFIT@@ETI%FH

134

135,
"~ (A) Arunachal Pradesh

: Whjch state is the largest pmduccr of Gypsum in Indxa s

(A) Rajasthan g : - (B) Gujarat

(é)' Jharkhand i '{D) Madhya Pradesh

I 4 o w1 i Seeen o e £

(A, TR o __(B)

) wwavs . () *-T%?w%w

Zanskar river 1susedfm: "'_'tmﬂ a:ud power generaﬁon mehlch reglon ?
e .._(B). 3Slldam

(O Ladakh : ; _»_-'_'f-'j'ii'_?'_:- D) .Garhwal—l(umaon

(A} - SreuTEE ﬁ%w e _fﬂﬁaﬁq

“136.

"68579 urmmnnummml

‘When did Chauri-Chaura incident tak

e place ?

() January,1922 S gy February, 1922

(C) November, 1922 = (D) April, 1922




Udai Singh ,
(C) Ram Singh

Ik Fﬁmmwmqfﬁaﬁaw%ﬁmm# A GOEHR Froges R , k]
4

T |

Who saJd thal rehgzon is the developm. g

;3‘
uman belngs religion is nelther in the _.arm l'ellg’lous p‘zmmples 9 o g
Y Raja Rammohan Roy 5 -, iy

~ Swami Bayanand Sara%watl <
C) Swam1 VIVdend_nd Dadudayal

Ravanhattha :
fgltc f'( 4 ﬂﬁ-‘-r GT Cios !ﬁ a@%ﬁ R

T



142 Whlch one of the feilowmg palrs is correctly matched ? o
_ Mahajanapadﬂ B e ; Town‘-=- e
(A) Gandhara’ . Matbum
B) An_g_a___ : UJJaJn :
S (D) _Kafnbnja oeRa 'Rajpur
J Ao i _.'ﬁm%f@aﬂﬁﬁqmwwaﬁqﬂng .
B TR - _; o

144. Conmdc_r the Iollowmg statements about Lhandrdguptd M-auquyd

=g e marrlcd the ghter of Seleucus

G He acccpted Bﬂddhl:sm* m ‘the last penod of hxs hfe :
3 He made Ashoka"_ 1iS SUCCESSor '

Whleh of the statements W &'bm . .;__15_-;_ / are true?
). Only i - EamaEs Ty
EEuc nﬁ % aﬁ ﬁ -i

%h—cml
"( ) 1 2

IUHIIIWIIIIHIIIIIWIIWW o

: _-3-:68 579




Consxder the foilomng statements about Ashoka’s inseri P‘tions R L

: I. Most of the mscnptmns atc 1n Praknt language

ol Most of the mscnptmns are in theBrath scr;p{ .. :.'_-"_:j_- o
Whlch of the stataments glven above is / are true -
.u_’i)f. MRl L e e T  (B) Onmly2 s o
(C) Bothland2 ) N e
W%aﬁﬁ@%ﬁﬁﬁﬁtﬂ%ﬁaﬁ‘ﬁﬁfﬂﬁ‘ﬂﬁ" N :

2 obwwstremitRaE .
_Wmﬁﬁﬁ-ﬂwwuﬁ%ﬁ? | S
(A}_" aﬂ?"l s

Whlch of the fo]lowmg I

araswati civilization site

(A _1.’__:3.,_:__5-_-’ ¢ oo (B) 1 2 4; -
Ic} 1,2,586 e PR s 4 | - --

The great mathemahclan Brahmagupta was born in Wthh _dlstnct of Ra_]asthan 9
(A) Jalore = Tmae B) Chu:u : et eh
[C) Sikar. e Dot
mewwmﬂﬂ?mmﬁgw ?

(A)

C)"'?ﬁJW

b
_)___ 18

-,__m;munmm':..

3

Temille
o

leclon s sl o o

<

Tear here
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. £ .;___._Wherc was the brauch af* "" s
Ay Shahpura ; =3

-

'(-C)- '_ Ram

”(A) %‘Iﬂ
(€.

50. Considé

=7 tr) 1 2 '3 .
i --ﬂstabhshed by Sant Danyav_n ?




